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MATHEMATICS SSC-l
SECTION -~ A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Sectlon-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B / C/D. Each part carries one mark.

(i) If X+ [_DI :ﬂ= [:; ﬂ , then X is equal to:

v B B [ e [

@  In 335 the radicand is:

A, 3 B. % C. 35 D. None of these
(iti) The logarithm of any number to itself as base is:
A 1 B. 0 C. -1 D. 10

, 2.1,
(iv) %E- is equal to=?
A {a—b}z B. l[a+ﬁ]2 C. a+h D. a=-b

(v) Factors of 3x” - x-2 are:

A, x+1(3x-2y B. x+03x+2y C. (x-1,03x-2y D. (x=1),(3x+2)
{vi) The product of two algebraic expressions is equal to the of their HCF and LCM.
A Sum B. Difference C. Product D. Quotient
{vii) Log p - log ¢ IS Same as;
A log & B. log( 2~ 4) C. "E%f D. log

{viii}  If the capacity ‘ ¢ ' of an elevator is at most 1600 pounds then:
A c <1600 B. ¢ > 1600 C. c<1600 D. > 1600
{ix) Point (2, -3 ) lies in the quadrant:

A i B. | C. 111 D. v
(x) Distance between the points (1,0)and (0, 1) is:
A 0 B. 1 C. V2 D. 2
(xi) The right bisectors of the sides of an acute triangle intersecteachother____ the triangle.
A Inside B. Out side C. Beside D. On
{xii} An equilateral triangle isa / an triangle
A Scalene B. Rightangled C. Obtuse D. Equiangular
(xiii)  Which one of the following sets of lengths can be the lengths of the sides of a triangle?
A 2,35 B. 3,4, 5 C. 2,47 D. 4.3 7
(xiv)  Which of the following measurements of the sides are right angled?
A 2,35 B. 4,3,5 C. 2,37 D. 1,.2,3
(xv)  Triangle on equal base and equal altitudes are equal in:
A Size B. Lengths C. Area D. Volume

For Examiner's use only:

Total Marks: 15

Marks Obtained:
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MATHEMATICS SSC-I th
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B' and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logarithm table and graph paper will be provided on demand.

SECTION — B [Marks

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
2 3 5 _1
(i) Multiply the following matrices | | | [3 0 :|
0 -2

(i) Solve the following system of linear equations by the Cramer's Rule 2x+ y=3 , 6x+5y=1

1 1 l
oo (2032713 2(60)2
(i} Simplify I T —

(180)2x(4) F x(9)4
(iv) Solve the following forreal x and y: (3—2i){x+ yi)=2(x—=2yi)+ 2i -1

(v) Evaluate log 51210 base 2J2

(438 J0.056

{wi} Use log table to find the value of prewer

2.3 .4
(vii  Evaluate ”'JTS‘ for x=4, y=-2and z=-1,
(viiy If x +f =3 then find the value of x° + L
x
[ =
{ix) Determine the rational numbers*a ‘' and ‘b’ if LER + 34 =a+£w'r§
B+l B
(x) Without actual long division determine whether (x— 2),(x+3) and (x —4) are factors of

q(x}=x3 +2xt —5x+6
(xi) Factorize x” +48x —12x% — 64 .

(xiy  Use division method to find HCF of x* +x° = 2x* +x =3, 5x° 4+ 3x2 =17x+6.

. , 5 . d 2
(xii)  Perform the indicated operations and simplify to the lowest form: 52—*'-’% ® 5-5—1;*
X5 -y b

(xiv)  Find the square root of 4+ 25x% —12x—24x> +16x*.

(xv)  Solve and check for extraneous solution, ifany ¥ 2x+3=3x~-2

(xvi} Solve 3{2x+1)-2(2x+5)<5(3x-2).

{(xvii)  Find the value of "'m 'and ' ¢ * by expressing 3—2x+ y =0 in the form of y=mx+c
(xvili) Solve the equations graphically x+ y—1=0,x—y+1=0.

SECTION = C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3 The vertices of a triangle are P(4,6),0(-2,—4)and R(—¥§,2). Show that the length of the line segment joining
the mid points of the line segments FX and Q_R IS%|P_Q| .

Q.4  Iftwo opposite sides of a quadrilateral are congruent and parallel, it is a parallelogram.

Q.5 From a point outside a line, the perpendicular is the shortest distance from the peint to the line. .

Q.6 [f the square of one side of a triangle is equal to the sum of the squares of the other two sides, then the triangle is
a right angled triangle.

Q.7 Constructa AXYZ, mXY =4.5em,mYZ =3.4cm and ZX = 5.6cm . Draw its medians and show that they are

concurrent.
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MATHEMATICS SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

(Science Group)

I

B d

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

) 21
(i) Order of transpose of o 118
j2

A 3-by-2 B. 2-by-3 C. 1-by-3 D. 3-by-1
(i) Real part of 2ab(i+i’)is:

A 2ab B. —2ab C. 2abi D. —2abi
(iii) The logarithm of any number to itself as base is:

A, 1 B. 0 C. -1 D. 10
(iv) 4x+3y -2 is an algebraic:

A, Expression B. Sentence C. Equation D. In equation
(V) The factors of x° —5x+6 are:

A x+1,x-6 B. x-2,x-3 C. x+6,x-1 D x+2,x4+3
(vi)  LCMof @’ +b and a* —b'is:

A. a’ +b* B. a’ - b* C. a -p* D a —-b

=2

wi)  (27x YT =

A = 3 = &

: 5 B. 5 C. 2 D 3

(viii)  If x is not longer than 10, then:

A. x>8 B. x<10 C. x <10 D x>10
(ix) Point (=3,=3) lies in the quadrant:

A I B. 1 C. 1 D. IAY
(x) Midpoint of the points (2,-2) and (-2,2) is:

A (2,2) B. (-2,-2) C. (0,0) D. (1, 1)
(xi) The right bisectors of the sides of an obtuse triangle intersect each other the triangle.

A Inside B. Qutside C. Beside D. On
(xii)  The sum of the lengths of any two sides of a triangle is then the length of the third side.

A Smaller B. Half C. Greater D. Twice
(xiiiy  Two points determine a line segment and three non-collinear points determine a:

A Line B. Rectangle C. Plane D. Circle
(xiv)  Let’c’ be the longest of the sides a, b and ¢ of the triangle then if a* +b* > ¢? then the triangle is:

A Acute B. Obtuse C. Right D. Scalene
(xv)  Parallelogram on the same base and between the same parallel lines are equal in:

A, Size B. Area C. Volume D. Perimeter
For Examiner's use only:

Total Marks: 15
Marks Obtained:
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MATHEMATICS SSC-I B
(Science Group)
Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly. Logarithm tables and graph paper will be provided on demand.

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)

(i)
(i)

(iiiy
(v}
(v)
(vi)
{vii)
(viii)

(ix)

{xii)
(i)
(xiv)
(xv)
(xvi)
(xvil)
[ xwiii)

MNote:

2 4 1 b 7 10
If 2 +3 = , then find 2 and b,
-3 a 8 4 18 1

The length of rectangle is 4 times its width. The perimeter of the rectangie is 150 cm. Find the dimensions
of the rectangle. {Use Cramer’'s Rule).

@ a+h B bt o yo+a
Show that (—) (—] (I—) =1
ow tha b k4 . x e

Solve Z+Z for Z =343
Find the value of x from log 8 =%

(1.23)(0.6975)
(0.007561278)

Use iog tables to find the value of

(=37 ) =204
(x=y )2 xp )

Reduce the following raticnal expression to the lowest form

If m+n+p=10 and mn+np+mp=27, find the value of nv.|2+jr11+p1

2
If x =2++/3, find the value of [x—Jx-} and [:x—}]
Factorize (x + 2} (x+ 3 x +4)(x+5)-15
For what value of 'm’ is the polynomial P(x) = 4x° —T7x* +6x—13m, exactly divisible by (x+2)
Use division method to find H.C.F of x° +3x> =16x+12 and x° + x° =10x +8
impli ional jon; ——— 4+ —1— - 2
Simpiify as a rational expression Faos T T dns v eas
Find the square root of 4x* +1 2.1cj;r+‘§y1 +16x+ 24y + 16 by division method
Solve the equation %(I - -é—) +-§- = —g-wlw -;-[-%mlr}
Solve 342 2>
Find the value of 'm’ and 'c’ by expressing 2x+3y—-1=0 intheformof y=mx+¢
Solve the equations graphically x—y+1=0 and x -2y = -]
SECTION - C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x 8= 24)

Q.3 IfO(0,0),A(3,0)and B (3, 5) are three points in the plane, find M, and M, as mid points of the line segments

AB and OB respectively. Find lMlel
Q.4 In any correspondence of two triangles if one side and any two angles of one triangle are congruent to the
corresponding sides and angles of the other then the triangles are congruent (4.5.4 = 4.5.4).

Q.5 The point on the bisector of an angle is equidistant from its arms.
Q.6 In a right angled triangle, the square of the length of hypotenuse is equal to the sum of the squares of the length
of other two sides.

Q.7 Construct .ﬁPQR,mP_Q = ﬁcm,mﬁ =4.5¢cm and mPR =5.5cm . Draw its altitudes and show that they are
concurrent.
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Time allowed: 20 Minutes

Answer Sheet No. @

Sig. of Invigilator.

--------------------------------------------------------------------------------------------------------------------------------------------------

MATHEMATICS SSC-I

SECTION - A (Marks 15)
Old Syllabus

NOTE:- Section—A is compuisory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deieting/overwriting is not aliowed. Do not use iead pencil.

Q.1 Circle the correct option i.e. A/ B/ C ! D. Each part carries one mark.

(i)

(i)

{iii)

(v)

(v)

(vi)

(vii)

{viii)

{ix)

(x)

(i)

(xii)
{iii)
(xiv)

(xv)

The range of R={(1,0),(2,1), (4,3)} is:

A {2,3.4} B. {0,1,3} C. {124} D. {1.2,3}
i (x=2,2)=(4,y+1) , then x and y will be .
A (2,3) B. (6,3) C. (6,1) D. (2,1)
If Vx,ye R, either x<yorx=yorx>y,thenitis called property.
A, Trichotomy B. Transitive C. Reflexive D. Symmetric
1
If x=3+2, then x+—=__
x
A, 2-43 B. 4 C. 2443 D. = NE)
The common form of 2.35x107% is:
A 500 B. 700 C. 0.0235 D. 1000
The characteristic of log19 is:
A 0 B. 10 C. 2 D. 1
(7-V2)(7+4/2) =
A 47 B. 48 C 36 D. 25
@+ =@+ b)),
A a*+ab-b® B a*-ab-b* C.  a*+ab+b® D.  a’-ab+b’
What will be added to 9a® —12ab to make it a complete square?
A 4b B, ~4h? c.  -l6k? D.  16b°
1
X =
[x ] H
A. [x+3y] B. [x+2y] C. [2x+ y] D. [2x+3y]
3
Order of L} is:
A, Ix1 B 2x2 C. 2x1 D. 1x2
There can pass through two points.
A One line B. Two lines C. Three lines D. Infinite lines
If a transversal cuts two parallel lines, the pairs of corresponding angles so formed are:
A One B. Two . C. Threa D. Four
The angles of the baseofan/a triangle are congruent.
A, Equilateral B. Scalene C. Isosceles D. Acute-angled
If vertex of a triangle is a point of concurrency of its altitudes, then itis triangle.
A, An acute-angled B. A right-angled
C. An obtuse-angled D. An equilateral

For Examiner’s use only:

Total Marks: ". 15
| —
Marks Obtained:
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MATHEMATICS SSC-I é}
Old Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log tabie will be provided on demand.

Q.2

Note:

Q.3
Q.4

Q.5
Q.6

SECTION - B (Marks 36)
Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)

(i) If U={x|xe NAx<100}, A={2,4,6,......,100} , B={1,3,5,........,99}, then show that
(AUB)® = A° N B¢
(ii) If B={-1,-2,-3,-4} and A={2,4,8} ,thenfind Ax B and Bx A and find its number

of elements also.
(iii} If A={2,4,6} , B={0,3,5], then find the function from the following relations. Also find the

kind of the function: R, = {(4,0),(2,3),(8,0)}, R, ={(2,0),(4,3), (2,5}
b+b? -a®

b—b* -a*

X ¥ . =
(v)  Simplify: ;:jz X {:/;.._ . Jg
a’ a a*

{vi) For 1 =10 +3 . evaluate:

P
a (p +lj2 b. (F“l")z
P p

(iv) Simplify:

{wii) Find the value of x when ]ﬂgm 5=2x

(vili)  Convert the wavelength 4, 5x 10°cm of blue light into meters and write in common form.

733

(ix)  Evaluate with the help of logarithms: g&
256.4

1
(x) fa=1,b=1,c=3, then find the value of 3::%%5%5.-:3—16

Yoyt az? “3xyz, if x?+y*+2°=77 and x+y+z=15

{xi) Find the value of x

(xi)  Find the value of 8xy {xz + yz) when x+y=6 and x-y=4

(xiii)y  Factorize:  8v® +7v’ -1

(xiv)  The product of two polynomials and their L.C.M. are  x* +5x* —=x* =17x+12 and
x> +6x% +5x—12 respectively. Find H.C.F.

(xv)  Find square root of : {x2+—]2—)2 -4 [x+i}2+12 , (x=0)
x X

o) 1|2 [[7]=1>® | then find the value of p and
X = . n 2 vaiue o an .
3pll7] 0 el panta

4 -1 51
(xvii)  Are the following pair of matrices multiplicative inverse of each other? |: . :I ; [ j|

5 3 4
, . 2x=5y-1=0
(xviii) Use matrices to solve the equations:
Ix+4y =136
SECTION - C (Marks
Attempt any THREE questions. Ali questions carry equal marks. (3 x8=24)

Prove that the sum of the measures of the three angles of a triangle is 1807 .
Prove that in a parallelogram;

a. Opposite sides are congruent. b, The diagonals bisect each other
Prove that any point on the right bisector of a line segment is equidistant from its end points.

Draw altitudes of ALMN inwhich, m£L=60° , mZM =45 mLM =7.1cm
{Also write steps of construction)
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(4w B)" =4 B¢
S rL gl Bx A s AxB Ge A={24.8) L B={-1-2-3-4} fi ()
‘e APufre AP it iyl AXB £2,5 B={0,3.5) , A={2,4,6} /| i)

Ry ={(4,0).(2,3).(8,0)} , R, ={(2,0),(4,3) . (2,5)}

R A w

J;J:— &7 W

1 1
(p- ;]2 — (p+ ;Jz _Jil r}-‘*‘w{{dwym ; 1043 4 i
log,,, 5=2x fis/pbacdfx (i)

-JJ(f}ru.fm  ESFLIHe e 37 4.5%10°  (Wavelength) LadrEAE (i)

jm‘;i;i Eeedens? W

a=1,b=1,c=3, ,ggrkf;,.fj 3a2+%ba+%ci-lﬁ (x)

x+y+z=15 4 xX¥*+y*+22=77 _gér-}v;,.fdlxj+y3+z3 ~3xyz (xi)

x-y=4 L x+y=6 gaobdf Sy (x+)yY) (i)

L R )

Gk B 0 4637 +5x-12 Fibweni sl x' 4500 —x? =17 4+12 AP (xiv)

1
(F + )" -4 (412, (20 b

LredS p g in []3 H m{iﬂ A (i)

4 -1 51
[_3 5} . [3 4} ‘e U i oS fite s Ludsy (il

2x-5y—1=0
x4 dy =36 EererSeafuds (i)
242)) pro
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